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FIRST TERMINAL EXAMINATION (2021-2022)

gfagel wesT 9T #e-01
Model Question Paper SET-01

FaTT-12 fyg- Sramere ¥HT- 1 wer 30 fAete qUITH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. msiaﬁ H’H?ﬁ?lT & d&hdr %’(Partnership agreement can be)
(a) Hif@= (Oral)
(b) faf@ (written)
(c) Aifs ar m?l'(Oral or Written)
(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

2. eI A=Al & HTE H 1 gy &1 st fFAT ST 8 (In the absence of

partnership deed profits and losses are shared)
(a) SRTEX- SEX (Equally)

(b) ﬁ‘\Gﬁ* T # (In the ratio of capitals)
(c) @Hslla & THIT (As per agreement)

(d) 38 & T (All of these)

3. FElEHl oW & IHTT #H AEIER & JAWFR €T 7 (In the absence of partnership deed,

partners are not entitled to receive)

(a) ddeT (Salaries)

(b) FHAT (Commission)

(c) ‘1‘\\_!& qY &GTal (Interest on capital)
(d) 39T T (All of these)
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4, W grdr a1 FlTaTG'Iﬁ' AT @TdT %(Revaluation account or Profit and Loss

adjustment account is)
(a) =FfFdeTd @TdT (Personal Account)

(b) SITHHATA T WTdT (Nominal Account)
(c) arFafd® @TdT (Real Account)
(d) 377 ¥ E ST (None of these)

5. TAATT HIBIEGRT & o8- g1 HeJard H qRads & gar %(Change in profit sharing ratio of

existing partner results in)

(a) B &1 gaﬁyam (Revaluation of the firm)
(b) BH FT W(Reconstitution of the firm)
(c) W ST FATYS (Dissolution of the firm)

(d) EFF# ) H-ﬂ%‘ Fl'eﬁ(None of these)

6. AB,CHRD A FIT I TR - R F(ed §T AHEK &1 3¢l Y=t ame- fomvorer
3e[aTd I 2:2:1: 1 & gRafda T AT ¢ fFd«T T FFM? (A, B, Cand D are partners

sharing their profits and losses equally. They change their profit sharing ratio to 2:2:1:1. How
much will C sacrifice)

(a) 1/6

(b) 1/12

(c) 1/24

(d) Sﬂﬁ'@‘ FIS 8T (None of these)

7. 919 qEaw # wafa & @ AR wwifa @rar @ven s @ R @ @ 3fe fem smeen

(When there is no goodwill account in the books and Goodwill is raised then which account will
be debited)

(a) ATSER #T ti‘\Glaf(Partner’s capital)
(b) T (Goodwill)

(c) TF3 (Cash)

(d) qag Reserve)

8. UIHATT o WX 3iAd o &1 3MFT FEATaT & (Excess of Average Profit over the Normal
Profit is called)

(a) 37T (Super profit)

(b) fifRera mer (Fixed profit)

(c) AHTATT TH (Abnormal profit)
(d) |HTHTCT TH (Normal profits)
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9. T BH & JWa @ 60,000 71 RfAAT Gt w geamr $irax 12.5% faad g
v 7 Fo ARG g6t 24,00,000 o rf@amr & 2 ast & w7 F YR W T
ghai (A firm has an average profit of ¥60,000. Rate of return on Capital employed is 12.5%. Total

capital employed in the firm was ¥4,00,000. Goodwill on the basis of 2 year’s purchase of super
profit is)

(a) ¥ 20,000

(b) ¥ 15,000

(c) ¥ 10,000

(d) 3?#@' Tﬂé’ Fl'&ﬁ' (None of these)

10. WIHER & WA W WA JoleT 99 A ATT 7T FIT EATRA FT (At the time of
admission of new partner General Reserve appearing in the old balance sheet is transferred to)
(a) T3y AEERY & q‘\Trﬁ gra A/ (All partners’ Capital A/C)
(b) TT WTEAGRKY q‘\Eﬁ i 7 (New partners’ Capital A/C)
(c) YR WEIERT & Yl WA 7 (Old partners’ Capital A/C)
(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

11. 19T 3eqqred fArreT SaT 7 (Sacrifice ratio is ascertained at the time of)
(a) ATSER #T g W (Death of a partner)
(b) TH H@?{IT & 3ITHIA AGUT FIA UT (Retirement of a partner)
(c) TH HSER & 9AA 9T (Admission of a partner)
(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

12.A 3R B ¥EIER &, SY5:3 & - g1fey dicd &1 dC Hr3/10 A1 F AT w7 A

A ol IR C1/5 HAWTA § TUT1/10 9T BH AT 8, A FAT w1er Fasqaret reyarar grem

(A and B are partners sharing profits in the ratio 5:3. They admitted C, giving him 3/10th Share of
profit. If C acquires 1/5 share from A and 1/10 share from B, new profit sharing will be)

(a) 5:6:3

(b) 2:4:6

(c) 18:24:38

(d) 17:11:12

13.3?’35‘?&“ QT T AT g &Y 98T I & (Profit or loss on revaluation is Borne by)
(a) T WTFIER (Old partners)
(b) AT HTEER (New partners)
(c) weft |TSAER (All partner)
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(d) shael & HISER (Only two partners)

14. 9TIGR & ol @ & IRMAF A¥ W FA7 fAFTar S1ar 2 (The opening balance of Partners

15.

16.

17.

18.

Capital A/Cis used to calculated)
(a) q‘\Gﬁ' g sTaT (Interest on capital)

(b) 3ATEYOT YT ST (Interest on drawings)
(c) 3ATEIOT (Drawings)
(d) g1fer & R’EWT (Share in loss)

AT WEIER @RT &A1 & fAT a1 a8 davg A ad@er Aeiert qanrT frw srgara &
q1d ST % (Share of Goodwill brought by new partner in cash is shared by old partners in)

(a) @TST fASITSTeT 31eTUTA (Profit sharing ratio)

(b) q«»_:ﬁ 3e9Td (Capital ratio)

(c) <Imar 317:I"Q'I?I'(Sacrificing ratio)

(d) Sﬂ'ﬁ' g S Flﬁ'(None of these)

X, Y3 z v & & ST F AEER &1 9% B @ a1 T@or w1 g1 X Ay

& dra ATer-fasTTSTer 3reTuTd 1:2 G R 1G] 3eT9Td §19M (X, Y and Z are equal partners in a

firm. Z retires from the firm them. New profit-sharing ratio between X and Y is 1:2. Gaining ratio
will be)
(a) 3:2
(b) 2:1
(c) 4:1

(d) FaelY 1/3 YIS HIAT & (Only Y gains by 1/3)

TH AEGR & HGHIT AT Fat & TAY Afaf@ad wufadl &1 sqaer Fw var fmar
IGI %‘ (How unrecorded assets are treated at the time of retirement of a partner)

(a) gﬂ'&?ﬂ'lﬁ' g rar & a?%f(Credited to revaluation account)

(b) R 3raFT FFOT FIA ATl WIHGR & Yol WIAT F HT3T (Credited to Capital A/C of

retiring partner)

(c) W @TrdT &1 3f9¢ (Debited to revaluation account)
(d) EBIERT & tl;?:rﬁ @Td &I AT (Credited to partner’s Capital A/C)

v iR atER §, S 2:2:1 F g9 F et Frafed §1 d F @HA TET T W
i &1 fedisweT 30,000 fFar aam & & afagft & R v wa d &1 e A
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C Ty (A, B and C are partners sharing profit in the ratio of 2:2:1. On the retirement of B, Goodwill
was valued at ¥30,000. Find the contribution of A and C to compensate B.)

(a) ¥20,000 3iX Z10,000

(b) 8,000 3R 4,000

(c) IS 3T Fl?f(No contribution)

(d) ¥15,000 3iX ¥15,000

19. T, 3 v B H AEeR 21 IR & AT AEER F T H YAU FIGT § (A, Band C
are partners in a firm. If D is admitted as a new partner, then)

(a) ‘EI’TIH‘T wH F1 Qe 81917 (Old firm is dissolved)

(b) ngFﬁ A JUT gTFﬁ '\CI'IQ?\'Iﬂ #1 Reea g191T (Old firm and old partnership is dissolved)
(c) ng?ﬁ qrstert g?l?'iﬁ_cl' g191Y (Old partnership is reconstituted)

(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

20. 51T WIHER EART A TS I§ TAM FEATA! § (Goodwill brought in cash by new partner is
called)

(a) #Qﬁ'(Assets)

(b) T (Profit)

(c) SfAIH (Premium)

(d) s?lﬁ' ) H-ﬂé’ Flﬁ(None of these)

21. Tyt wufeat & Aew 7 gefer Fgerd % (Increase in the value of fixed assets is termed as)
(a) ©ITH (Profit)
(b) HeH @(Appreciation)
(c) QY (a &b both)
(d) 39UFT T (All of these)

22.A3R B 5:3 # smer-gifa F1 Reerr G §T WRIER 1 C F AT THER F w9 H
nfAe fram ST & 3R T Amer-fAISer JeTdTe 9:5:2 AT ¥ TAWT AT §9IT (A and B

are partners sharing profit and losses in the ratio of 5:3. C is admitted as a new partner and the
new profit-sharing ratio is 9:5:2. Find out the sacrificing ratio)

(a) 1:2

(b) 1:1

(c) 1:3

(d) 2:1
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23.

24,

25.

26.

27.

dt, 7, 3R AR TH WEER 7, M 6:5:3:2 F g H omel F1 oS I §1 wH B
¥ HIFWT TGO FIAT §1 TH & HTFIA TN FI & qT6 4T 19 - FAevaret 3reqarer ghom

(P, Q, R and S are partners sharing profit in the ratio 6:5:3:2. S retires from the firm. Calculate
new profit-sharing ratio)

(a) 6:5:3

(b) 6:5:2

(c) 6:5:4

(d) 1:1:1

vFd, ar$ AR A3 el W F4:3:2 F U F WHER §1AE IFTHI TGO FAT B
T 3R a$ HfasT H5:4 F AU F A0 - g1l F aie 1 Toky FR@ §1 amr wita
3@% gl (X, Y and Z are partners sharing profit in the ratio of 4:3:2. Y retires. X and Z decided

to share profits in future in the ratio of 5:4. Calculate gaining ratio)
(a) 1:1
(b) 2:1
(c) 1:2
(d) 3:2

AHER & THA TN FT W EA1a A g A v &t @t 7 i3 dir smeeft

(On the retirement of a partner full amount of goodwill is credited to capital account of)
(a) 3T TFUT FIaA dTel TSGR & (Retiring partner)

(b) 99 FTEIERT & (Remaining partners)

(c) T FRASRY F (All partners)

(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

#Hiema 3 Akt v W A wgier ¥ 1 Al B Feiee @ qF e AT W 10% A
e & FAlreT yred g g, Safe Akt FY FAler F qeara qey AT W 5% Hr W @
FHRIT YT BT g1 FARGT § G FT ey a7 €1,10,000 71 Fewmah F1 Fwaferw gomw

(Minakshi and Gauravi are partners in a firm. Minakshi is to get a commission of 10% on net
profit before charging Commission while. Gauravi is to get a commission of 5% of net profit after

charging all Commission. Net profit before charging any commission was ¥1,10,000. Calculate
commission of Minakshi)

(a)¥ 11,000

(b) ¥ 12,000

(c) T 1,100

(d) ¥ 14,000

Arsiey aFsla & gRadsT @ (By change in the partnership agreement)
(a) H’IQEI?I’ F ALY Ay g AT %(Changes the relationship among the partners)
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(b) mﬁaﬂ SIET &1 39 HRCIGI %(Result in end of partnership business)
(c) WIS B &1 fA=gesT 8 ST § (Dissolves the partnership firm)

(d) s?l'«ﬂ' g 5 Flﬁ'(None of these)

28. S8 WIfCT HeJ9Td (Gaining ratio)
(a) oTaT HeluTd - AT W(New ratio - Old ratio)
(b) GITIT 34T - TN 9T (Old ratio - Sacrificing ratio)
(c) oTAT 3HeldTd - ST IHeTUT (New ratio - Sacrificing ratio)
(d) T HeqTd - =737 W(Old ratio- New ratio)

ZQ.W BH & gﬂﬁ%ﬂ' I HYREAY & FI‘\?T " q_?\;ﬁl' 3| ‘Jﬂ'UTI'H'(Increase in the value of
Assets on reconstitution of the partnership firm results into)

(a) adHA '\‘lﬁa'lfl' I ST (Gain to the existing partners)

(b) TAHATT H‘IQ?{ITT Ca) E'Iﬁ'(Loss to the existing partners)

(c) AT '\‘lﬁa'lfl' HY T ATH o gIfeT (Neither gain nor loss to the existing partners)
(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

30. ATHTN HTHI............ 9 f&aT ST § (Dividends are usually paid on)
(a) Hﬁﬂf‘d ti‘\‘_:f’f(Authorised capital)
(b) foeifaa ti@l’f(lssued capital)
(c) AT TS ti'\‘_:f’f(Called-up capital)
(d) e ti‘\Gﬁ(Paid-up capital)

31. AR 3er AT e s ?(Right shares are issued to)
(a) Yade! HI a3t & foIT (Promoters for the services)
(b) Yada 1T RHOTTAl & GRT &Y (Holders of convertible debentures)
(c) ﬁa:q'mr-r srereniAY Eﬁ(Existing shareholders)
(d) 39T WY (All of the above)

32, 372 e @Il %‘(Share allotment account is)
(a) safFdeTd W@TT (Personal Account)
(b) arEdfds® @TAT (Real Account)
(c) oA ATA T WIdT (Nominal account)

(d) S?-l'ﬁ' ) «'ﬂ%‘ Flﬁ'(None of these)
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33. AT FAURT FIT F & & (Equity shareholders are)
(a) FAT & AR (Creditors of the company)
(b) EaT#HY (Owners)
(c) FUA F JTgsh (Customers of company)
(d) 379? g 5 Flﬁ'(None of these)

34, 312F & mﬁw # fds Res & g gt # f@@mm ST § (Premium on issue of shares
is shown on....... side of the balance sheet)
(a) '\‘i'CIﬁ'(Assets)
(b) ST (Liability)
(c) XY (Both)
(d) Sﬂ'ﬁ' g S Flﬁ'(None of these)

35. AfAFR 3¢ 9 %‘ ﬁ%’(Right shares are the shares ,which)
(a) F9T F &R F AAAT FAT STAT § (Are issued to the directors of the company)
(b) FYAT & TIATT U RSP F AT Far Far %(Are issued to existing shareholders

of the company)
(c) FYt & gadr H FAAAT fHAT AT 7 (Are issued to promoters in consideration of

their services)

(d) gufear @lies & fav fakanst # RefAa fFar smar %(Are issued to the vendors for

purchasing assets)

36. yIfdd q«‘_:ﬁ 3T 3R ‘I‘\T:ﬁ F HaA A el SIldl %‘(The difference between subscribed

capital and called- up capital is called)
(a) SIhTAT AT (Calls in arrears)

(b) 31T AT (Calls in advance)
(c) 3raTfRd Gait (Un-called capital)
(d) ga'# q FE Fl'é’f(None of these)

37. %l AT & AR Faer A U Ao # ey g, It e o WA @
(As per the Companies Act, only preference shares which are redeemable within...... can be
issued)

(a) 24 a¥ (24 Years)
(b) 22 ¥ (22 Years)
(c) 30 a¥ (30 Years)
(d) 20 T¥ (20 Years)
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38.¢9d F & HJUR A Il W A A1 AHaA T % (According to table F interest on
calls in advance should not exceed at)
(a) 8% ufaa¥ (8% p.a.)
(b) 12% wfaa¥ (12% p.a.)
(c) 5% ufaa¥ (5% p.a.)
(d) 379? g 5 Flﬁ'(None of these)

39.9‘%31‘\'%' NfATs @+ s ﬁl‘c’[&' H frad saeta @ aran %‘(Securities premium

is shown under which head in the balance sheet)
(a) IT TUT IAFT (Reserve and surplus)

(b) CICLEZ D (Miscellaneous expenditure)
(c) =Tel ST (Current liabilities)
(d) 372r i (Share capital)

40. 99T q‘\Trﬁ a1 I %(Reserve Capital means)
(a) rfawofda IR sflRa q«»_:ﬁ &I Teh HTIT (A part of subscribed and un-called capital)
(b) |FRIT T (Reserve profit)
(c) YT WerT FT f3FAT (A part of Capital Reserve)
(d) q«‘_:ﬁ T HET FT TH f&4dT (A part of Capital Redemption Reserve)
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